
SpectraLogic.com

Spectra T50e Library
Rack-mount Kit Installation Guide



March 2016 Rack-Mounting Instructions—Spectra T50e Library
2

Copyright Copyright © 2008‐2016 Spectra Logic Corporation. All rights reserved. This item and the 
information contained herein are the property of Spectra Logic Corporation. 

Notices Except as expressly stated herein, Spectra Logic Corporation makes its products and 
associated documentation on an “AS IS” BASIS, WITHOUT WARRANTY OF ANY 
KIND, EITHER EXPRESSED OR IMPLIED, INCLUDING BUT NOT LIMITED TO 
THE IMPLIED WARRANTIES OF MERCHANTABILITY OR FITNESS FOR A 
PARTICULAR PURPOSE, BOTH OF WHICH ARE EXPRESSLY DISCLAIMED. In no 
event shall Spectra Logic be liable for any loss of profits, loss of business, loss of use or 
data, interruption of business, or for indirect, special, incidental or consequential 
damages of any kind, even if Spectra Logic has been advised of the possibility of such 
damages arising from any defect or error.

Information furnished in this manual is believed to be accurate and reliable. However, no 
responsibility is assumed by Spectra Logic for its use. Due to continuing research and 
development, Spectra Logic may revise this publication from time to time without notice, 
and reserves the right to change any product specification at any time without notice.

Trademarks BlackPearl, BlueScale, CC, Spectra, SpectraGuard, Spectra Logic, TeraPack, TFinity, 
TranScale, and Verde are registered trademarks of Spectra Logic Corporation. 
ArchiveGrade, ArcticBlue, Verde DP, and Verde DPE are trademarks of Spectra Logic 
Corporation. All rights reserved worldwide. All other trademarks and registered 
trademarks are the property of their respective owners.

Part Number 90970019 Revision C

Revision
History

Contacting
Spectra Logic

Revision Date Description

A August 2008 Initial release

B November 2008 Added rack‐mounting warning and feet installation note.

C March 2016 Updated trademarks and warnings.

To Obtain General Information

Spectra Logic Website: www.spectralogic.com 

United States Headquarters European Office

Spectra Logic Corporation

Phone: 1.800.833.1132 or 1.303.449.6400
International: 1.303.449.6400
Fax: 1.303.939.8844

Spectra Logic Europe Ltd.

Phone: 44 (0) 870.112.2150

Fax: 44 (0) 870.112.2175

Spectra Logic Technical Support

Technical Support Portal: support.spectralogic.com 

United States and Canada
Phone:

Toll free US and Canada: 1.800.227.4637

International: 1.303.449.0160

Europe, Middle East, Africa
Phone: 44 (0) 870.112.2185

Deutsch Sprechende Kunden
Phone: 49 (0) 6028.9796.507

Email: spectralogic@stortrec.de

Mexico, Central and South America, Asia, Australia, and New Zealand
Phone:  1.303.449.0160

To Obtain Documentation

Spectra Logic Website: support.spectralogic.com/documentation/ 

http://www.spectralogic.com
https://support.spectralogic.com
https://support.spectralogic.com/documentation/


4

Rack-mount Instructions

These instructions describe how to install the Spectra® T50e library in a 
standard 19‐inch (48 cm), four‐post rack. Do not install the tape drives or 
media until after the library is installed in the rack.

GATHER TOOLS AND SUPPLIES

Perform these tasks and note the warnings:

 Identify the location where you will install the Spectra T50e library.

Note: For ease of use, install the library near the center of the rack so 
you can easily access the front panel, the access port, and the 
magazines. 

 Assemble the rack, if necessary.

 Obtain the following tools and equipment:

 #2 Phillips screwdriver, magnetic if available

 Level (recommended)

Warning The library is heavy (see product specifications for details). Use extreme caution and 
proper equipment when moving the library. Do not install components in the 
library until it is secured in the rack.

Important Lift the library only by the sides—not by the front and back.

Warning The rails provided with the library are designed for a standard 4-post 19-inch 
(48 cm) rack. A 2-post rack will not support the weight of the library.

Warning To reduce the risk of personal injury or damage to equipment:
 Extend leveling jacks to the floor.
 Ensure that the full weight of the rack rests on the leveling jacks.
 Install stabilizing feet on the rack.
 Extend only one rack component at a time. Racks may become unstable if more 

than one component is extended.



Rack-mount Instructions Install the Library in a Rack.

March 2016 Rack-mount Instructions—Spectra T50e Library
5

INSTALL THE LIBRARY IN A RACK.
Unpack the rack‐mount kit and identify the components listed in the 
following table.

Component Use

Rail assemblies
Qty = 2

Support the chassis in the rack. Each rail is 
pre‐assembled and consists of the 
following components:

 Adjustable slider

 Rails (2)

M6 screws
Qty = 16 (8 each)

Attach the rail assemblies to the rack. Size 
used depends on rack type.

 M6 x 8 mm (small shoulder)

 M6 x 8 mm (large shoulder)

Use the screws with the larger shoulder for 
racks with square holes.

M5 x 12 screws
Qty = 2

Secure the library mounting brackets to 
the rack.

Rail

Adjustable
slider

Front

Back

Shoulder



Rack-mount Instructions Install the Library in a Rack.

March 2016 Rack-mount Instructions—Spectra T50e Library
6

Install the Rails in the Rack

1. Position the left‐side rail assembly in the rack so that the front flange is 
behind the front screw holes in the rack.

2. Adjust the length of the rail assembly as necessary to fit the depth of the 
rack.

3. Using a #2 Phillips screwdriver, install four M6 screws—two in the 
front and two in the rear—to secure the rail to the rack. Make sure that 
the front and back of the rail are attached to the rack at the same height 
on the front and back posts. Using a level simplifies the leveling 
procedure. Tighten the screws securely.

Notes:    Two sets of M6 screws are provided. The type you use 
depends on the type of rack you have. Use the screws with 
the larger shoulder for racks with square holes.

 To simplify the installation, have a second person support the 
rail while you install the screws.

 Leave the middle hole in each rail empty. You will use them 
when attaching the library’s mounting brackets to the rack.

4. Repeat Step 1 through Step 3 to install the right‐side rail. Make sure 
you install the right‐side rail at the same level as the left‐side rail. 

5. Verify that the rail is level from front to back and the shelf formed by 
the rails is level from left to right. Using a level is recommended.

Figure 1 Install the rails in the rack.

Front of Rack

Back of Rack

Position rail 

Adjust to fit

1

2

3

behind front

depth of rack

Secure with
screws

Install rails with “flat” edge
in the front and the “angled”
edge in the rear of the rack.

Simplified
rack rail Front Rear

 flange



Rack-mount Instructions Install the Library in a Rack.

March 2016 Rack-mount Instructions—Spectra T50e Library
7

Mount the Library in the Rack

1. Lift the library onto the shelf formed by the rails.

2. Slide the library completely into the rack so that the mounting brackets 
are against the posts.

3. Using a #2 Phillips screwdriver, install one M5 screw in each mounting 
bracket to secure the library to the rack, as shown in Figure 4. 

Warning The library is heavy (see product specifications for details). Use extreme caution and 
proper equipment when moving the library. Do not install components in the 
library until it is secured in the rack.

Important Do not install the rubber feet if you are installing the library in a rack. They are 
meant for a tabletop installation only.

Figure 2 Secure the library to the rack (right side shown).

Mounting
bracket screw

Post


	Spectra T50e Library
	Rack-mount Kit Installation Guide
	Rack-mount Instructions
	Gather Tools and Supplies
	Install the Library in a Rack.
	Install the Rails in the Rack
	Mount the Library in the Rack




